ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2024

MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)
BASICS OF HUMAN BODY (BHB-9)

TIME - 2.00 HRS MAX MARKS-100

(ONLINE EXAM)
(Short Questions)

(erg u=)
Attempt only four questions out of following six: 4x10=40
fdl IR gl &1 S <
Qu.1. What do you understand by ECG? Discuss.
ECG ¥ 31y &1 |93 872 adi BIfor |

Qu.2. Write about Kyphosis and Lordosis of spine?
w13 B Kyphosis 3iiX Lordosis & IR # el |

Qu.3. How many types of neurons are there? Discuss.

R fHa R & BId 32 94l DI |

Qu.4. Discuss the functions of any two fat soluble vitamins. Also
write about disorders due to its deficiency.

qur 4 garefia f&d <1 fdeifima & o faRed qom s
I 4 B9 qrd ARl @ IR | qasd |

Qu.5. Discuss the role of enzymes in pH.

pH ¥ TIrs™ @Y qfieT awsnsd |

Qu.6. Write about the classification of proteins.

NAT &1 Tffexer a1 28?7 falkad |

(Section-2)
Objective questions
q¥fse gy

All compulsory. 30x2 = 60
Hl yTl @& I ATaS B



(1)

(2)

3)

(4)

()

(6)

(7)

“P wave” arises from -

(a) SA Node (b) AV Node
(c) Bundle of His (d) None

“P wave” S~ aidl & —

(a) SA Node ¥ (b) AV Node &

(c) Bundle of His & (d) ®dig gl

Hormone GH (Growth hormone) is secreted by -

(a) Testes (b) Pituitary

(c) Ovary (d) None

Hormone GH (Growth hormone) sIH® R dfad gar 28—
(a) SIS 9 (b) ey <4

(c) sast ¥ (d) &g TE

In ECG, E stands for -

(a) Electro (b) Electron

(c) Endo (d) None

ECG# E &7 araud 2—

(a) Electro (b) Electron

(c) Endo (d) dIg &Y

Which is a water soluble vitamin -

(a) Vitamin A (b) Vitamin D

(c) Vitamin C (d) None

Sl # goeha faerfi= @ -

(a) faerfia ¢ (b) faerfi= St

(c) faerfi= (d) ®dig gl

How many total leads used in ECG -

(a) 12 (b) 8

(c)6 (d) None

sodfiosfio # ga feah New gAir gt @ —

(a) 12 (b) 8

(c) 6 (d) @13 =Tl
Spondylolisthesis is condition in which vertebra of spine -
(a) Slip out (b) Fuse

(c) Break down (d) None
Spondylolisthesis & s @ #-1® #® fr=1 aRad+ glar @ —
(a) 9 8 Rad I (b) 3maE # {8 ST
(c) W@ &T Tl (d) dig &Y

Scurvy disease is a symptom of
(a) Vit. A deficiency (b) Vit. B deficiency
(c) Vit. C deficiency (d) None



Scurvy T TH &0 & —

(a) Vit. A deficiency &1 (b) Vit. B deficiency &1
(c) Vit. C deficiency &1 (d) @Iy T8
(8) Heart rate below 60 bpm is called -
(a) Tachycardia (b) Bradycardia
(c) Arrhythmia (d) None
60 dfic gfr fiFc 9 9 gs9—<® & ded @ —
(a) Tachycardia (b) Bradycardia
(c) Arrhythmia (d) &g T8

(9) Abbreviation “CAD” is used for -
(a) Coronary Artery disease  (b) Common artery disease
(c) Carotid artery disease (d) None
Jifera A/ “CAD” 99T &idr @ —
(a) Coronary artery disease 8¢ (b) Common artery disease &q
(c) Carotid artery disease 8¢q  (d) ®Is &l

(10) Which is a physical denaturing agent of protein -

(a) Heat (b) Wind

(c) Detergent (d) None

3 TP YicH ) f{Agfa o1 #ifaes are 8 —

(a) Heat (b) Wind

(c) Detergent (d) @Iy T8
(11) Protein is soluble in-

(a) Water (b) Fat

(c) Both (d) None

Ui gaefid sar @ —

(a) oiaT | (b) 9T #

(c) = (d) @13 =Tl
(12) Ventricles of brain is lined by -

(a) Astrocytes (b) Ependymal cells

(c) Microglia (d) None

ARass & Ventricles 99 8ld & —

(a) Astrocytes & (b) Ependymal cells ¥

(c) Microglia & (d) &g TS
(13) What is another name of Vitamin B1 -

(a) Riboflavin (b) Nicotinamide

(c) Thiamine (d) None

faerfm 1 &1 gur M 2@ -

(a) Riboflavin (b) Nicotinamide

(c) Thiamine (d) ®dig =gl



(14)

(15)

(16)

(17)

(18)

(19)

(20)

Enzymes are needed in -

(a) Large amount (b) Small Amount
(c) Both (d) None

TSR B AGTTHAT sldl a—

(a) arfere Ar=T | (b) 9gd H¥ AT |
(c) <t (d) &I &l

Which is speed up the chemical reaction?-

(a) Protein (b) Enzymes

(c) Fat (d) None

wrafre gfafsar &1 g ax d T —

(a) gid= (b) I3+

(c) awr (d) ®Ig =Tl

Which vitamin is essential for absorption of calcium -
(a) Vitamin A (b) Vitamin D

(c) Vitamin K (d) None

B9 A1 faerf@ ofeer @ s@uyvr & fav mavas 2 —
(a) fderfi= ¢ (b) faerf= <t

(c) faerfm & (d) &g T8

In ECG graph, X’ axis shows -

(a) Time (b) Voltage

(c) Speed (d) None

godlosflo Ut ¥ “vaw Ufdas” wR Qw@r orar @ —
(a) Time (b) Voltage

(c) Speed (d) dIg &Y
Another name of Sensory Neuron is -

(a) Efferent nerve (b) Afferent nerve
(c) Both (d) None

Sensory Neuron &T §HRT - &—

(a) Efferent nerve (b) Afferent nerve
(c) It (d) &I &l
Straightening of lumbar curvature is known as—

(a) Loss of Lordosis (b) Loss of Kyphosis
(c) Loss of Scoliosis (d) None

AR HdaR o fET g B HEd T —

(a) Loss of Lordosis (b) Loss of Kyphosis
(c) Loss of Scoliosis (d) ®dig gl

Which vitamin is produced by intestinal bacteria-
(a) Vitamin A (b) Vitamin B
(c) Vitamin K (d) None



&9 a1 fyerfim anal & Sfavet grRr S fear smar @ -

(a) faerf= ¢ (b) faerf=
(c) faeifim @ (d) ®dig =12l

(21) AV node is located in —
(a) Right ventricle (b) Left ventricle
(c) Right atrium (d) None
AV node Rera &ar @ —
(a) Right ventricle # (b) Left ventricle &
(c) Right atrium & (d) dig &}

(22) Which is primary curvature of spine? -
(a) Sacral (b) Dorsal
(c) Both (d) None
W & YT Hdax & —
(a) Sacral (b) Dorsal
(c) 1t (d) @13 =Tl

(23) Which is not used in chemical reaction -
(a) Fat (b) Enzyme
(c) Carbohydrate (d) None

| @ I ot gfafear 7 wmr 9f dar @ -
(a) Fat (b) Enzyme
(c) Carbohydrate (d) ®dig gl
(24) Purkinje fibers supply impulses to -

(a) Muscles of right atrium (b) Muscles of ventricles
(c) Both (d) None

gRfhS wIgax waT Agfd H=ar =

(a) Muscles of right atrium@!  (b) Muscles of ventricles @i

(c) <1t (d) @13 =Tl
(25) Optimum pH of enzymes which works best is-

(a) <7 (b) 10

(c) Approx. 8 (d) None

@ aad flovdo o IR TIg+ 38T &1 &d & —

(a) <7 (b) 10

(C) T THIT 8 (d) &g T8
(26) In Scoliosis spine look like the English letter-

(@)CorS (b) D

(c) F (d) None

Scoliosis # Spine fe@dar 2 —

(a) C or S ST (b) D sHaT

(c) F <har (d) g



(27) Astrocytes are -

(a) Glial cells (b) Neural cells

(c) Muscle cells (d) None

Astrocytes &lId & —

(a) Glial cells (b) Neural cells

(c) Muscle cells (d) dig &Y

(28) Cause of Macrocytic anemia is-

(a) Vitamin A def. (b) Folic acid def.

(c) Vitamin C def. (d) None
Macrocytic anemia &T HIRUT BldTl @ —

(a) Vitamin A def. (b) Folic acid def.

(c) Vitamin C def. (d) ®dig &Y

(29) Full form of MRI is-
(a) Magnetic resource of image (b) Mega resonance of image
(c) Magnetic resonance of image (d) None
TUOIROJATS0 BT Yuf -1 & —
(a) Magnetic resource of image (b) Mega resonance of image
(c) Magnetic resonance of image (d) @13 &

(30) Protein is composed of-

(a) Amino acid (b) Fatty acid

(c) Glucose (d) None

YA 941 a1 2—

(a) Amino acid ®T (b) Fatty acid @t

(c) Glucose &1 (d) dig &Y



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2024
MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)

CHINESE ACUPRESSURE (CA-9)

TIME - 2.00 HRS MAX MARKS-100
(ONLINE EXAM)
SECTION -1
(Short questions)
(g 9)
Attempt only four questions out of following six: 4x10=40

Sl IR YTl &1 SR <
Qu.1.  Write the lobes of Brain and its treatment area on finger.

ARass & faff=1 wmT (Lobes) feaifed wd Lobes &T el
SUAR 89 & IR | foafRed |

Qu.2.  Write short note on common (Samanya) attribute.

AR T[0T & 9R ¥ Gfdra aoiq siford |

Qu.3. Write treatment protocol for Osteoporosis and plot them on
finger.
JATRARITE &1 SR ydg fafe) o el w® 59 fag
®I <3Tey |

Qu.4. Write about uses of ECG and general treatment of Heart
related disorder.

ECG @ SUdlT & dR H faRad vd gey awfed gwwar &1
AT SYAR e |

Qu.5. What is Vitamin? Write a short note on vitamin C.

faerfim @1 82 faerfim C @ IR ¥ wfera avfa #ifsa |



Qu.6. Write and show on palm the treatment protocol for Gastritis by
chakras.

I b gIRI Gastritis &1 SUAR foRad vd gdoll ¥ <urisyd |

(Section-2)
Objective questions
qEgfIss g

All compulsory. 30x2 =60
Il 99l & SN ATdWD 2

(1) Rickets in children may be due to deficiency of -

(@) Vit-D (b) Vit- B
(c) Vit- A (d) None
9=al # 811 drd Rickets =1 @1 &Y ® ®Ror ghar @ —
(a) Vit—D &1 (b) Vit— B &1
(c) Vit— A @ (d) ®Ig =&l
(2)  Which vitamin we get from citrus fruits -
(@) Vit—K (b) Vit—C
(c) Vit—D (d) None
e Hel | g9 $i4 w1 faerfi= fieaar @ —
(@) Vit—K (b) Vit—C
(c) Vit—D (d) BIg T8I
(3) According to body regions Lt upper front related point is -
(@) Lu-5 (b)Lu-9
(c) Lu-7 (d) None
R & &3 Division & argar Lt Upper Front & wwfera
fog @ —
(@) Lu-5 (b) —

Lu—-9
(c) Lu-7 d) &I T8l



Migraine will be treated by -

(@) YNM Tw-0 (b) YNM Tw-2

(c) YNM Tw-1 (d) None

R g€ @1 STER B —

(@) YNM Tw-0 (b) YNM Tw-2

(c) YNM Tw-1 (d) ®ig =gl

High Blood pressure and Kidney stone will be treated by -
(@) YNM Tw-2 (b) YNM Li-2

(c) YNM K-0 (d) None

Sod IGddTd 91T Jadb A USRIl T IUAR ST —
(@) YNM Tw-2 (b) YNM Li-2

(c) YNM K-0 (d) &g =&l

Sciatica pain along UB channel will be treated by -

(@) YNM UB-2 (b) YNM UB-0

(c) YNM UB-1 (d) None
ArIfeHT BT g8 — (UB @ IWMHIaR) &1 SUAR 8HIT —
(@) YNM UB-2 (b) YNM UB-0

(c) YNM UB-1 (d) ®ig =gl

Difficulty in inhalation and exhalation will be treated by -
(@) YNM Tw-2 (b) YNM Lu-1

(c) YNM Si-2 (d) None

W o+ U9 Bl H ddhellh BT SUAR BT —

(@) YNM Tw-2 (b) YNM Lu-1

(c) YNM Si-2 (d) &g =gl

Heart pain will be treated by -

(@) YNM Ci-1 (b) YNM UB-2

(c) YNM Tw-1 (d) None

44 ¢ &I SUAR BN —

(a) YNM Ci-1 (b) YNM UB-2

(c) YNM Tw-1 (d) &g -2l



(10)

(11)

(12)

(13)

Muscles cramps will be treated by -

(a) YNM Lu-1 (b) YNM Si-1
(c) YNM GB-2 (d) None
Araueh ¥ ¥o9 &1 SUAR B — —

(a) YNM Lu-1 (b) YNM Si-1
(c) YNM GB-2 (d) dIg T8I
Corpus callosum will be treated on -

(@) Thumb (b) Index finger
(c) Small finger (d) None
Corpus callosum ®T SYER 8T — —

(a) A3 H (b) ai+t §
(c) wfvftsdr | (d) dIg T8I
Endocrine system will be treated by -

(a) YNM Si-2 (b) YNM Tw-0
(c) YNM Li-2 (d) None
Endocrine system &T SU9R &I —

(@) YNM Si-2 (b) YNM Tw-0
(c) YNM Li-2 (d) ®ig =2l
Anemia will be treated by -

(@) YNM K-2 (b) YNM UB-2
(c) YNM Si-0 (d) None
RFATUdT T SUAR 8T —

(@) YNM K-2 (b) YNM UB-2
(c) YNM Si-0 (d) ®Ig =21
Asthama will be treated by -

(@) YNM Lu-1 (b) YNM Si-2
(c) YNM Tw-2 (d) None

THT &1 SUAR BT —

(@) YNM Lu-1 (b) YNM Si-2

(c) YNM Tw-2 (d) BIg T8I



(14) Nail biting and dry mouth will be treated by -

(@) YNM Li-2 (b) YNM Si-2

(c) YNM K-0 (d) None

AR Pled Td Y& @ &I SUAR s8N —

(@) YNM Li-2 (b) YNM Si-2

(c) YNM K-0 (d) BIg -T2I
(15) Frequent urination will be treated by -

(a) YNM UB-2 (b) YNM UB-1

(c) YNM UB-0 (d) None

IR—9R UAE WF $T SYAR ENIT —

(a) YNM UB-2 (b) YNM UB-1

(c) YNM UB-0 (d) BIg 12N
(16) Low immunity will be treated by -

(@) YNM Sp-0 (b) YNM Li-2

(c) YNM Tw-2 (d) None

HAGIR AMYfRIES 9fad &1 SUaR 8T —

(@) YNM Sp-0 (b) YNM Li-2

(c) YNM Tw-2 (d) BIg -T2I
(17) Sense organ is -

(a) Hand (b) Leg

(c) Eye (d) None

aHfea g —

(a) B1AA (b) 4=

(c) 3iTe (d) ®1g &1
(18) Frontal lobe related sense is -

(a) Smell (b) Touch

(c) Vision (d) None

Frontal lobe & wwfed o & —

(a) T (b) Tast

(c) 3f%e (d) dIg =Tt



(19)

(20)

(21)

(22)

(23)

Hot and cold treatment will be by -

(@) NCH (1) NCH (2) (b) NCH (5) NCH (8)
(c) NCH (3) NCH (4) (d) None

Hot and cold ®T SUARR BRIT —

(@) NCH (1) NCH (2) (b) NCH (5) NCH (8)
(c) NCH (3) NCH (4) (d) ®ig Tl

Blood tissue will be treated by -

(@)F-3 Pt (b) F-2 Kijt

(c)F-1 Vit (d) None

IGd G BT STAR ST —

(@) F-3 Pt (b) F-2 Kijt

(c)F-1 Vit d) dIs T8I

On small finger which part of brain will be treated -
(a) Occipital lobe (b) Temporal lobe
(c) Frontal lobe (d) None

HHRSHT Al R IRTH & fHH AT ST IUAR I —
(a) Occipital lobe (b) Temporal lobe
(c) Frontal lobe (d) ®ig gl

Spine will be treated by -

(a) Rt MF K jt (b) Lt RF V jt

(c) RtIF K jt (d) None

W3 &I SUAR BN —

(a) Rt MF K jt ( )LtRF V jt

(c) Rt IF K jt (d) ®Ig T8
Common attribute is -

(a) Metal (b) Heavy

(c) Light (d) None

AT T[0T & —

(a) Ffa (b) \rsY

(C) el (d) BIg LY



(24)

(25)

(26)

(27)

(28)

Action organ is -

(a) Leg (b) Ear

(c) Eye (d) None
FHfa 8 —

(a) U4 (b) &4

(c) 3iTe (d) ®1g &1
Frontal lobe of brain will be treated on -

(a) Index Finger (b) Ring finger
(c) Small finger (d) None
ARk & Frontal lobe &1 SUAR 89T —

(a) aci=t # (b) @t H
(c) Bf-ifSs®dT # (d) ®ig =2l
Types of Neuron is -

(a) 4 (b) 5

(c)3 (d) None
Neuron ® U®R & —

(a) 4 (b) 5

(c)3 (d) ®1g &1
Drying of cornea may be due to deficiency of -
(a) Vit- C (b) Vit- D

(c) Vit- A (d) None
FIAT § @ g9 7 ——— 3 FH SR 2—
(a) Vit- C (b) Vit- D

(c) Vit- A (d) ®ig -2l
Temporal lobe of brain will be treated by -

(a) Ring finger (b) Small finger
(c) Index finger (d) None
ARash & SHIRA dld &1 SUAR 8T —

(a) IATST H (b) wfvfts®T #

)
(c) aci-Y o (d) ®ig =&l



(29) Vision senses related brain lobe is -

30.

(a) Frontal lobe (b) Occipital lobe
(c) Temporal lobe (d) None

gfic g9 @ wrafaa aRkass &1 a9 @ —

(a) hed e (b) srifeafieca <is
(c) SHIRA olid (d) BIg T2I
Deficiency of Blood will be treated by -

(a) YNM Ci-1 (b) YNM Tw-2

(c) YNM K-2 (d) None

G DY HHY BT SUAR BT —

(@) YNM Ci-1 (b) YNM Tw-2

(c) YNM K-2 (d) dIg T8I



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JAN - JUNE 2024
MASTER ADVANCE DIPLOMA (Honors. In Clinical Study) (Sem.9)

AYURVEDIC ACUPRESSURE (AA- 9)

TIME - 2.00 HRS MAX MARKS-100
(ONLINE EXAM)
SECTION -1
(Short questions)
(g 9)
Attempt only four questions out of following six: 4x10=40

frdl IR gl &1 S©X ]

Qu.1. Show these points location into diagram-

YNM — Lu 012

Ly 012
g Rrgal & R ¥ qeriza—
YNM — Lu 012

Ly 012

Qu.2. Write the names of Fat soluble vitamins.

Jur A gareha faefra @ T fafed |

Qu.3. Show these points location into diagram —

YNM ND 012

AD 012
51 Rigal ») fra ¥ guigd—
YNM ND 012

AD 012

Qu.4. Write the names of 4 tissues meridians of Dr. Voll located in
hand. Also show the location.



S10 9T gRT 31 RAY 51 @1 4 oy #Adfea=a @& I fafEd 9

fra & <urisa |
Qu.5. Show these points location into diagram —
YNM — Liv—-012
Sp- 012
Kid - 012
3 Rgal @ fam ¥ <ufzsa—
YNM — Liv—012
Sp- 012
Kid — 012

Qu.6. Show these points location into diagram —
YNM — Fat— 012
Fib 012
SK 012.
5 famgal &t R ¥ qufsa-
YNM — Fat— 012
Fib 012
SK 012.

(Section-2)
Objective questions
qEgfIss g

All compulsory. 30x2 =60
il gl & Scax AP 2

(1)  Which one is a Yam -

(a) Kindness (b) Health
(c) Fasting (d) None
39 o IH BIF AT ? —

(a) <1 (b) Ty

(c) SUaTd (d) BIg Tl



Temporal lobe will be treated on -

(a) Both MF all jts (b) Both SF all jts
(c) Both RF all jts (d) None

SHIRA dld $T SUAR BT —

(a) Both MF all jts (b) Both SF all jts
(c) Both RF all jts (d) dIg T8I
Treatment for Navel disturbance will be given on -
(@) Toe No. 3-V jts (b) Toe No. 0- V jts
(c) Toe No. 4- Vjts (d) None

I e &1 SUAR BT —

(@) Toe No. 3-V jts (b) Toe No. 0- V jts
(c) Toe No. 4- Vjts (d) &g =&l

Which meridian is known as Neuro Power Chakra -
(@) ND (b) TW

(c) AD (d) None

gﬁ?{ At ARFSIT &1 Neuro Power Chakra @& AT ¥ ST SITdl
(a) ND (b) TW

(c) AD (d) ®1g &1

Lt Thumb all LVM - 019| is treatment for -

(a) Heel pain (b) Knee pain

(c) Infection (d) None

Lt Thumb all LVM — 019 Su=R feas fag & —
(a) T < (b) g &

(c) AHHYT (d) &g T8

JD meridian flows in -

(a) Toes (b) Fingers

(c) Both (d) None

JD ARfea= yarfea &t @ —

(a) IR & el A (b) BT BT ATl F

(c) <=t ® (d) &g =T8T



(10)

(11)

(12)

Treatment of Constipation is Rt SF 5" Spm -

(a) 24367 (b) 34561

(c) 378145] (d) None
BfesTad BT SUAR BT —

(a) 24367 (b) 34561

(c) 378145] (d) &g =&l
Total number of tissue meridians is -

(a) 8 (b) 7

(c)6 (d) None

feeg ARfeTa & @ d@r 2 -

(a) 8 (b) 7

(c) 6 (d) ®rg gl
Bone and Bone marrow tissues are plotted on -
(a) Both IF P jts (b) Both RF P jts
(c) Both SF P jts (d) None

JRker T ARerSo arg Rer@ 2 — -

(a) Both IF P jts (b) Both RF P jts
(c) Both SF P jts (d) BIg T8I
Which disease is related to spine -

(a) Lordosis (b) Sinusitis

(c) Asthma (d) None

g @ s 9 gHfea AT 8 — —

(a) arsiRm (b) GragETSfeH
(C) eI (d) &g =&l
Hearing is related to -

(a) Occipital lobe (b) Frontal lobe
(c) Temporal lobe (d) None

gATg <1 feud wwafed & —

(a) madifieca <9 4 (b) ed o9 9
(c) SHIRA olid & (d) BIg T2I

OR Meridian flows in -
(a) Middle finger (b) Ring finger
(c) Small finger (d) None



(13)

(14)

(15)

(16)

(17)

OR #afea+ yarfaq sidt @ —
(a) HET JAT[AT H (b) STITFAST Il F
(c) wfafte®t sivelt # (d) &g =gl

Protocol of Prostate enlargement is on -

(a) Rt Thumb — 0/1, 0/2 RLVM (b) Rt Thumb — 8/9 RLVM
(c) Rt Thumb — 7/9 RLVM (d) None

gyIeee U gfg &1 SuarR 8 —

(a) Rt Thumb —0/1, 0/2 RLVM (b) Rt Thumb — 8/9 RLVM
(c) Rt Thumb — 7/9 RLVM (d) ®ig =gl

Heart meridian flows in -

(a) Index finger (b) Middle finger
(c) Small finger (d) None

< AAfsa yarfea &t @ —

(a) Tt~ 3t H (b) 9T AT |
(c) Bfife®T Sivpelt # (d) &g =gl
Blood/Plasma tissues are plotted on -

(a) Both SF P jts (b) Both IF P jts
(c) Both RF P jts (d) None

ad /¥4 org Rera & —

(a) Both SF P jts (b) Both IF P jts
(c) Both RF P jts (d) &g =&l
Treatment of Scoliosis will be done on -

(a) Lt RF (b) Lt IF

(c) Rt MF (d) None
Scoliosis ®T SYAR BT —

(a) IfY ST (b) arff asi=f #
(c) s1fe=l wews T (d) ®Ig T8
Subject of tongue is -

(a) Radiance (b) Taste

(c) Smell (d) None

S &1 fawg @ —

(a) B (b)

X
(c) e (d) &g TS



(18)

(19)

(20)

(21)

(22)

Kyphosis is the disease of -

(a) Spine (b) Ear

(c) Nose (d) None
Kyphosis feaa e 2 —

(a) ¥ = (b) &1 BI
(c) T I (d) &I 81
Rt RF 012 Spm is treatment for -

(a) Heel pain (b) Neck pain
(c) Gastritis (d) None

Rt RF 012 Spm SyaR féaa fag @ —

(a) TSI T (b) €A &€
(c) HesTgfed (d) B3 T8
ECG is done to check -

(a) Cardiac rhythm (b) Kidney function
(c) Liver function (d) None

ECG fwa fov fear simar @ —
(a) B<T B T WA TG (b) & &1 ® WA =Y
(c) TBd &1 B WA 2q (d) &g T8

Cerebellum is plotted on -

(a) Lt RF K jt (b) Lt MF K jt

(c) Lt MF P jt (d) None

AeeH Rera & —

(a) Lt RF K jt (b) Lt MF K jt

(c) Lt MF P jt (d) &g =&l

Which meridian is known as Bone health chakra -

(a) JD (b) AD

(c)ND (d) None

fea Aa0fsasr &1 Bone health chakra @ 919 ¥ ST SITdT @ —
(a) JD (b) AD

(c) ND (d) ®Ig 181



(23)

(24)

(25)

(26)

(27)

Total Action and Sense organs are -

(a) 4 (b) 5

(c)6 (d) None

§o IHfear 3 HHfwar € -

(a) 4 (b) 5

(c) 6 (d) &g =TT

Which meridian is known as ‘Hormonal Power Chakra’ -
(a) AD (b) OR

(c) TW (d) None

@iq Y aRf$IT ‘Hormonal Power Chakra’ @ w19 ¥ W1 STl
g _

(a) AD (b) OR

(c) TW (d) ®ig Tl
Treatment of Hemoglobin will be given on -
(a)Both IF (b) Both MF

(c) Both SF (d) None
AT &1 SUAR g8Hm —

(a) JI4T dsi-il A (b) =T weHT §
(c) ]Il Bf-ifs®T o (d) dig =T8T
Which one is a Projection of body -

(a) Both knee (b) Both heel

(c) Both hip (d) None

3 9 I 91 IR BT U gIwHE B —

(a) <I4T geA (VEEIRE]

(c) Tt e (d) B T
Vision is related to -

(a) Parietal lobe (b) Occipital lobe
(c) Temporal lobe (d) None

gfic wvafea 8-

(a) AT <ld 9 (b) madifiee <l 4

(c) THIRA g | CIEIEIRE



(28) Both IF K jts treatment is related to -

(a) Liv/Kid (b) Li/Si
(c) UB/GB (d) None
Both IF K jts &T SuaR gwfed 8 —
(a) Liv/Kid & (b) Li/Si ¥
(c) UB/GB % (d) &g =&l
(29) Frontal lobe will be treated on -
(a) Both MF all phalanx (b) Both IF all phalanx
(c) Both RF all phalanx (d) None
wed did BT SUAR 8NIT —
(a) Both MF all phalanx (b) Both IF all phalanx
(c) Both RF all phalanx (d) &g -2l
(30) Treatment of ltching in whole body is -
(a) Si- 0127 (b) P-0127
(c) SK-012] (d) None
IR IR § Golell &1 SUFR gHT —
(@) Si-0121 (b) P-0121

(c) SK-012] (d) P T



